Using the Graphing Calculator for Quadratics
Step 1:  push MODE
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Make sure that FLOAT is NOT selected.  Choose any other number.  (This tells 

the calculator how many decimal places to round to.)
Step 2:  push Y=



   enter equation you wish to graph
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Step 3:  push GRAPH

    --If your graph cannot be seen in its entirety you have 2 options



a)  push ZOOM



  select number 6 – zoom standard



b)  push WINDOW



enter new values for xmin, xmax, ymin, and ymax




use large numbers to ensure the graph will fit
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**If you need more WIDTH on your screen to find the right hand root – make 

xmax bigger

**If you need to make the window HIGHER to find the vertex – make ymax bigger


**If you need to make the window LOWER to find the vertex – make ymin smaller

 Step 4:  Finding vertex


push 2ND TRACE (CALC)


select #3 minimum if your parabola opens up (smiley face)



select #4 maximum if your parabola opens down (sad face)



*you will be asked for left bound – 




make sure your cursor is blinking to the left of your vertex. Move it 

with the arrows if it is not.

Hit ENTER
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*you will be asked for the right bound - 

 


Move your cursor to the right of the vertex.

Hit ENTER
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*you will be asked to make a guess




just hit ENTER
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*your vertex coordinates are listed at the bottom of the screen

Step 5:  Finding Roots


    Since we know that the y value of the roots will be 0

    Hit Y= and in Y2 enter 0.  This will graph the line y = 0.

    Choose #2 Zero
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         Now calculate intersection of the two graphs.  


         Hit 2nd TRACE (CALC) choose number 5 for intersect



It will ask for first curve (the one in Y1)  Hit ENTER 
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It will then ask for second curve (the one in Y2)  Hit ENTER
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It will ask you to guess.  Hit ENTER
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REPEAT PROCESS IF YOU HAVE MORE THAN ONE ROOT!!!!!!!!!  Just move “flashy” closer to the other root when you start the process.

Step 6:  Finding an x value if you are given a y value

Hit Y=

Y2 = <the y value>

Hit 2nd Calc


Choose Intersect

Step 7:  Finding an y value if you are given a x value

Hit TRACE


Type the x value you are looking for


Hit ENTER


Your cursor will jump right to your point.





















